Tic
U1 what does 2 Computer System consist of?
a.

(i) Hardware _ (”)_ éoftware \ii¥Both (i) and (ii)  (iv) None of these
b which of the following isthe appropriate definition of Base of a Number System?

i) It is used to_‘represen't the number of digits in that Number System.

Mis used to represent the number of digits that can be used in that number system.
(i) Itis used to represent the digits that are present in that number system.

(iv) It represents the nu.mber of digits that is required and that cannot be used to
represent a number in that number system.

¢ Which among the following is a valid Binary Number?

\9/1011012 (i) 11011014 (i) 101010244 (iv) 110A146
4. Which is not a valid octal number?
(i) 2341g \ﬁﬂ’/ﬁ%s (iii) 44264 (iv) 27565
e. Which of the following is not a digit of the Hexadecimal Number System?
0 A - (i) F (iii) 9 (G

2. State whether the following statements are true (T) or false (F).

a. The number of digits that can be used in a Number System is called its Base.

b. The Octal Number System has its base as 16. 3
c. Decimal Number System is a native way of representing numbers in a computer.
d. The last digit that can be used in hexadecimal number is "Z'. @
e. CAFE4¢ is a valid hexadecimal number.

3. Fillin the blanks with the given words.

l 2 octal 16 hexadecimal | Number 7 )

& The way of representing numbers to identify quantity is called . Nuambes... system.
b. The largest digit present in octal number system is w.oooloverircinninnne. ,

¢ The radix of Hexadecimal Number System is ........ T S— ;
d 3616 is a «[/.WJ(&d.Qah:m»@Jumber whereas 36g is a (Q/Cm ............ number.

€. To convert decimal number to binary, you need to divide it successively by ... &\ ............ .

v
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\ mcorrect answer.



4. Observe the conversion process and ill in the blanks. !!

a. Convert 79, to Binary. b. Convert 10314 to Binary,
279 5 fios
2|39 ==»1 2 [51 —1
- - 2| 12 —1
2| 4 —»1 ) o
2l 2—(0 2[ 3 —»0
11— T 1—1  Ans[LLOOI
1 0 Ans.| 10D 11] | ooy
- f
c. Convert 101101, to Decimal. d. Convert 110110, to Decimal. ;
S 4 2 4 »
T | 1x2=2 2+1=3
\———>1xzo=1 3x2=6 6+0=6
0x21=0
» 1x22=4 6x2=12 12+1=13
> 1x27=|% 13X2 -2 26+1=27
_» 4 — —
> 0x2°=0 27 x 2 =54 S 110 =S
—— > [) ¥a3]=32 '

Ans.[ g Ans. 5L|
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